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EX: Find the Laplace transform of the following waveform:
d(, -a
ft) = t—(te a )
dt

solh: Alonuj/l we /m'jj-é take the olerivative
before '/:qk[/)y +he Lq/c(ac‘e L ranstorm,
it is geperally simpler to uase Laplace
transform Jdentities.

We work From “he i(nside out.
From a -table of basic transforms, we have
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We now a/o/o()z the Za’e/ré[-é/v for derivatives:

Ltd £0)% = s LIFEIY - £(07)
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Thus, £ § d +_e—%)§ = g —(4;9_-4*)\
At (S+q)2 o™
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We how aﬁn(/ +the La{en-l:[-é)/ For Mul-l:':;:[ida-ééon

LEtiE) S = ~d £ § ()3
As

Thus, ,C{{-_A_(Jcé“*)? = -d 3
dt
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